- —BBFHATILAFTASUXU Y (2 A6 BBRE) thik

I = ED HZD |EEFE|ERK |BESF  |(ED N

L E & (T B 1.14G5 |429G3 [58G8 [74G8 [8.21G5 |9.18 G3 Ak
118F E(HAIE 12 90 34 136
2| HEh(BARTH#E) 90 34 124
3| RINE FEFEGERLTC) 27 41 48 116
4RI FRH(RESR) 90 90
418l EH(DASH) 90 90
6|3 F(FEBTC) 41 23 12 76
7|Ee HI@ENLTC) 27 48 75
8| Hft BEEEFEX) 41 23 64
8|Hft EE(ELXRE) 41 23 64
8|X%Z 1E—BACGEFREEITTC) 23 41 64
8|EF FRth(CEFMEEITTC) 23 41 64
12|28 EBRGEEIFALA) 63 63
12| % ZKEESITALA) 63 63
12|88 ShABIOBIHEX) 63 63
12|88 ES(EEER) 63 63
16|R1& S AGENUTC) 19 41 60
17/fF3 E2(Qoo) 23 22 45
17| ¥ #&5h(Qoo) 23 22 45
19|¥IHE #E5(F R/ R) 41 41
20|45k CULREEER) 12 12 24
21348 FAREN(EERB) 23 23
21|=10 BE#@EIITC) 23 23
21|FEE CWURERTC) 23 23
21| &/ (T /3 —X) 23 23
21/ME HREBGREI T HTE—) 23 23
21|EH BARGEBEXRE) 23 23
21| EF FEIUERESR) 23 23
21| X F%E(Qoo) 23 23
21| H £E(Qoo) 23 23
30/ EiE(HATI#H) 22 22
0|HE REFEEITALA) 22 22
32|15 R HBELTC) 19 19
33[&f7 EBE(NOBU) 12 12
33|F&J" F ANNOBU) 12 12
33788l EEEEEXDE) 12 12
33| HF KA (FREKXF) 12 12
33| FAHt HIFEMAXTC) 12 12
33|18 ERB(NOBU) 12 12
33|EE BEEEXFE) 12 12
33| =t EIFEEXRE) 12 12
41 EQATDIE 0
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| = ED HED |EEFHE BRI |REF  |FED N

iz E & (T B 1.15G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
1[{£E% HE#H(NOBU) 34 90 63 187
2|A HHFUL/N—FTC) 34 90 124
3|HER #2Z(Qoo) 48 63 111
4124 HENLO—) 90 90
413K BEERIE 90 90
6|BIH EEHE(Qoo) 63 63
6|IEE EHGEEMEED 63 63
8| XF Rmk—(Qoo) 48 48
9| AR K#h(Qoo) 22 22
9FEE EHEF—LILT) 22 22
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B = ED HZD |EEFE|ERK |BESF  |(ED N

iz E & (T B 1.15G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
1[KE % (SOTO) 48 90 90 228
1[3EE& #X(SOTC) 48 90 90 228
3£ FIB(NOBU) 41 34 75
4 AMRWERE) 63 63
4|8R3F #—(Qoo) 63 63
4|85k FBEE(Qoo) 63 63
4|ER 2 (Qoo) 63 63
8| KH XE(EZLETC) 48 48
8|H#Ft FEK(SOTC) 48 483
10| F % SIEINOBU) 41 41
10//M#F EH—(Qoo) 41 41
10[AKH EX(Qoo) 41 41
13|BF AZRGEETEA) 34 34
13X EHNIT7I—I) 34 32
13;8i0 BRGBIMNIT7FI—IL) 34 34
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L E & (T B 1.15G5 |429G3 |58G8 [74G8 [821G5 [9.18 G3 Ak
1H)l E—(TIZTTRDE) 27 63 90
1|5 BEC(EL@TC) 27 63 90
1|HFT EXK(SOTC) 90 90
1[KXH XEEILETC) 90 90
5//MEF EH—(Qoo) 48 48
5|85K EEE(Qoo) 48 48
TR BthALoD) 41 41
1100 SXURETC) 41 41
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L E & (T B 1.15G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
1Bl BERGBSMHIFZI—IL) 90 63 22 175
2{EBER E(HBIHNIT7FI—IL) 90 63 153
3| Rl BEX(Qoo) 90 90
3 RE(LVHENTC) 90 90
S|{EARE JtEEHETC) 63 63
5| Rk HEARIETC) 63 63
18R EEWLVHENTC) 48 48
11EXR HE (LVHENTC) 48 48
tEH Esh(UL/NTZ=RER) 41 41
9{FE RBULNTZARE) 41 41
9|F E BEZ(EHTC) 41 41
9|FaIR B —(NEEER) 41 41
9| A BEUL—2h—IL) 41 41
9E F—(L—17R—)L) 41 41
15| RAR BEA—F—X) 34 34
15[;EER fBAVTC) 34 34
171K Eir@iEn—1) 22 22
17| K2 BARE GBI TFE—IL) 22 22
17|ZR #=(FFa3) 22 22
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L E & (T B 1.15G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
1| X8 =HXAVTC) 90 90
1ES BEavTC) 90 90
3| &EH FE(EHETC) 63 63
3N EXRULRYURMAE) 63 63
S5|EAR (BRI S5D) 48 12 60
S5|EAR tEEHYSD) 48 12 60
1| FE BZ2(EHTC) 27 27
1|EH F—EEEE) 27 27
9|fEih SETIURIETOC) 19 19
9|/NEF 8 —(MAXTC) 19 19
11|&E TRRURETC) 12 12
1WA #EFURETC) 12 12
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1|HFHE ZZ(EHTC) 90 90
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| - ED HZD |EEFE|ERK |BESF  |(ED N

iz E & (T B 1.14G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
1[/\& BUVA(F-tennis) 27 90 34 151
20 ENNEXEILS) 90 48 138
3| KM FH(BdIMITFI—IL) 19 63 41 123
3|RF #%E(GASCTT) 19 63 41 123
5|#aH EHEFRGEILTC) 63 34 97
6=k FEAHEXFILERK) 90 90
6|2 EEEHKXKXE) 90 90
8 2R XEFEMBEXFILS) 41 48 89
9|l HME(EED—2TO) 12 41 22 75
10|85 K FEHELVHENTC) 41 22 63
10|58 ¥EBEAKD) 63 63
10K HEHVvHEO—) 41 22 63
13| X% BF(EED—2T0) 12 41 53
14/ #HEHEXEILS) 41 41
15[3F EFFH BT 23 12 35
16| KE HXFURETC) 27 27
17|=H ZFE(SRENDER) 23 23
17[42H B F(SRENDER) 23 23
17/ HfHF(SLENDER) 23 23
20| RE HXERTC) 22 22
21|l EBES=(EHTC) 12 12
21|51+ EFEEHETO) 12 12
21| B FCEFRERTT) 12 12
24 EQATI 0
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iz E & (T B 1.15G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
1[#H LEEGEBTC) 48 12 90 90 240
1/ iz EZEF(ROSSO) 48 12 90 90 240
EEF HELVHENTCO) 19 63 82
AEAR ERGBINIFI—IL) 12 63 75
5| K HMF(HIHI7I—IL) 63 63
5|8 (LFHEEE) 63 63
5|28 E3%(Qoo) 22 41 63
8| Li=%F F1HE(enjoy) 34 27 61
8|EitE E(enjoy) 34 27 61
10|78 FEGFHYM 22 34 56
11{FE &HPE(enjoy) 48 48
11X AEFERLUTC) 48 48
13[I[RAR EFF(L\HENTC) 22 19 41
13| & =41 (Qoo) 41 4
13| ERE #BZ(EHETC) 41 41
13|A+j= ER(EHTC) 41 41
17|AH {Z%(Qo0) 34 34
18|HBH HIFFEBLUTC) 22 22
18| 2% EX@ERLUTC) 22 22
18|FH EFHBIHhIT7I—IL) 22 22
18[IRA 1V AHA(Qoo) 22 22
18|:5%F #3%(Qoo) 22 22
23| KM B FGBHIHhTFE—IL) 12 12
23|lUAR EFEFEOE) 12 12
23| &M FWHF—LOLT) 12 12
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1115 ALFIEREE) 12 90 102
2IRA EFEFULVHENTC) 90 90
2| Ei=%F F1E(enjoy) 90 90
21BN AEFEILTC) 90 90
5| MF(ROSSO) 63 63
5| KM _EmF(@HIMIFI—IL) 63 63
5|5 HFEHOH) 63 63
5| FE EAI(ROSSO) 63 63
BN FRIHIF—LIALT) 19 41 60
10|EXR #AF(+HLYY) 41 41
108 BEF@HINITFI—I) 41 41
10| GiE HEFFEHEETC) 41 41
133k F EFHHK(ROSSO) 27 27
13[F#%E AF(ROSSO0) 27 27
15|IUAR EEFEDF) 19 19
16|l EFESDE) 12 12
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iz E & (T B 1.15G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
1|XE EFLHENTC) 48 27 63 138
1[/h# FBFUVHENTC) 48 27 63 138
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iz E & (T B 1.15G5 |429G3 [58G8 [74G8 [8.21 G5 |9.18 G3 Ak
128 EX@ERLUTC) 27 90 90 207
1|EB#E HIFZFELTC) 27 90 90 207
3|5 AEF(GASCTT) 19 63 63 145
J[(EH ILA(GASCTT) 19 63 63 145
5|=# fiF(B-B) 41 41
58K =&&L(B'B) 41 41
5|IHA FHEMELYY) 41 41
50 mEF(ELYY) 41 41
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